196  Match List I with List ITre

(CNRY!
tubules

es used IV. Crop
nding the food.

Choose the correct answer from the options given

beJaw :
& A-L, B-II, C-IIE'D-1V

(2) A1V, B-1i1, ¢l pop
(3) A-IIL, B-1I, 4V, DI
(4) A-1V, B-11, i’ D-1

197 Given below are two statements -
Statement | ; The cerebra] hemispheres are
connected by Nerve tract known as corpus

callosum,

Statement I . The br.
med

Ml stem consists of the
a oblongata, Pons and cerebryp,,

In the light of the above Statements, choose the
Mmost appropriate answer from the Options given
below :
(1) Both Statement | and mS_aSo_: II are
incorrect,
) Statement | iS eorrect but msﬂmao_: II'is
incorrect, |

() Statemen; Lis incorrecy but Statemen 1 is
00:.00?

(4) Both Statement| and Statemen lare correct,

R3 Engjisp, 1 A

SPACE FOR ROUGH WORK

s

198 Match List 1w List IT

List I
A. Mesozoic E
B. Proterozoic Era

vertebrates

. Lower
11 h & Amphibia

Cenozoic Era III. Birds & Reptiles
C. Cenoz h

aleozolC Erd : ammals
D. P E) V. M ,
orrectanswer from the options gjye
Choose the ¢ t t

below :
(1) A-IL B-I, C-II, D-IV

() AL B-II, C-IV;)D-I1I
(3) A-IL B-1, C-IV} D-II
#) AL B-L C-IIL D1V

199  As per ABO blood wBEu_.:m system, the blooq

group of father is BY, mother is A and child is
O Their respective genotype can be
ACSIBII/TA ki

B. IBIB/JAJA/jj

C. TAIB/iA/ B

D. 1A/ Bj/1a; 7

E.iIB/irA /1A

Choose the most mvv_,ﬁ%lmg answer from the
options given below:
(1) Bonly

3) D&E only

@ c&B only

@ Aonly

200  Given below are two statements -

,\m“-m—:o.: I: Bong marrow is the majin lymphoid
organ where a]] blodd cells inclu g _v\_zuroOSmm
are produced. )

VAMM»SEmE II ; Both bone marrow and thymus
ovide micro environmengg for the development

and maturatiop, ow,_,.c\_:u:oov\am,
Inthe] mm_zo::omvoﬁ Statements, choose the most
m_u?ou:m_om:ms\m_ {rom :ﬁou:.o:mm_{o: below :
(1) Both m:.:w::t: Land s¢

atement I[ are

incorrect.
LJ \
/\& .m::n_:m_: Lis, orrect by wr,:m_:n_: ITis |
_=OO:.OO~. ( W
) |
; ' ]
3) m_m_m_:@:: 5.58202 but Statement IT'is
Correct, .

4) Both mES:S:Zm:Q wSSEm_::m_.m correct, |

[ Contq.,,




Zoology : .JS.:::VT‘\W. I

i £ tatements :
jiven below are two s ) :
- Mm-a.:a::..?:.50:95_.5 and chlor Oplastg

arg |

186 March | 1st I with List [ :
ist IT both double membrane bound o..oﬁ:o. (et
e - Statement II : Inper membrane s?::on:o:a_,_.m |
A. Pwaye I Heart muscles are is relatively less permeable, a5 comparey to

chloroplast,
Inthe :.E:o::amg,\m&mazaza, choose the Mmogy

Appropriate answer from the options given beloy, .
(1) Both Statement | and Statement II apg

EnE:.nm:., silent.

B. QRrs complex | 1. Depolarisation of

ventricles, incorrect,
( I wave 11 Ccﬁ:\_\_:f._:d: of () AmB_Q:E: i comectbut m_m_Q:Q: i Is
\ Incorrect,
/ atrig, (3)  Statement Lis incorrect but mBSSQ: Il js
/ correct, |
D T-pgap 1V, Repolarisation o (4) Both mESSQ:;:Qmsaim_::m:w Correcy |
ventricles, |
189 Choose the Correct Statemen¢
Ch, se the copy swer from :EEE.Q;EE: regarding juyt, medullary nephrop
beloyy . (1) Renaj oo:u:mioo&:ﬁm medy

of juxta medy
runs deep iy, medul]a,
B) Juxta 5&::&%
Cortica] nephrops,
Juxta medullapy, ephrons gpe locateq in the
columps of Bertinj,

()/A-n, Bl C-IV, g

) A, B-IL, ¢, D-1y

(3) A1V, By, C-I, D-py

@

“) A By, CIV, Dy

187

Given beloy,

e two Statemens . 190 Match List 1 With [ js¢ i

v.:.:,..:E: I: Gause’g Competitjyo exclusjop S St o "
E::,E.:. States two closefy relateq Species > m»HogSm_SS i Excess aqection %
.r. : \.#.::’n for djfy nt Tes0urpeg cannoy eXist Sl oow:.mo\v Moon faceg,
defipjtey, ‘
B Acromegy, o
>c...o..m_.=m to Gause'g n:.:Q.Eo Lthyro; i ‘
:E::o:o:, :52:::,:2& o :o..:..o:a
and Stunteq 8rowth

Satemepyqg choose the
Optiong given beloy, 3

0t apg ,ﬂma.:&: Hare
Ise,
) Statemep ;. = Clioose g correct ang,y, fi (LA
IS true by ms_qsoi Iis fa)ge beloy, € from e OPtions giyen
) ,mrﬁc.:n::_w £z ) Ay,
alse bug maasgl i : w.:, Gl U,E
Lis trye, ) 4 I .
R Cal, g~
> el

191 Match List [ with [ js¢ II :

List 1 List 11

A CE.nm:Em_.mE:aEmﬂ Il Salivary glands
epithelium /\

I.  Pancreas

1I. Goblet cells of

B. OoSUo::&ab:ro::i

C. Multicellular

glandular epitheljy m:,_:o:SQ canal

D. Endocrine 8landulay V. Moist surface of

epithelium buccal cavity

Choose the correct ansyyer from the Options gjyen
belowy :

(1) A-lV, B-I11, C-L, D1
g A1, B-ly, C-I, D1
3) Al B[, C-1V, Dpp
4 A-IL B-I, C-I11, D-1v

192 Match List | With Lis¢ 1 g

List List 1p
A. RNA Polymerase i1 Il SnRNPg
B. HQ:::m:.o: of

:m:wn:.n:.o: 11. 30539.

@& mu:oimowmxozm II. Rpy factor

D. TATA box

Identify the correct option (A). (B), (©), (D) with
respect to Spermatogenesjis,

GnRH

193

N 4
(B) (©)
¢ {1
Androgens Factors
¢ $
D)

Formation of spermatids iy

(1) ICSH, Interstitja] cells, rm%a_.m cells,
wUmﬂB:OWOJmum_w.

2) FSH, Sertolj cells, va\n:.m cells,
m_un::mnomazmm_m,

3) ICSH, Leydig cells, Sertol; cells,
mvm::Ecmm:mm_W

) FSH, Leydig cells, Sertolj cells,
SPermiogenesis

Substrate,
(e) Release omv«oacﬁm.
DL Chemicg| bonds of the Substrate broken_
Substrate binding ¢, active sjte. ©
Choose the Correct angyy, i
below -
@ A E,B
@ B, A, C
3) E, D @
@ E, A, D
195 The ,oo:os:.:m are the State;
o:oam:om 3
Pharypy
ZoHOoro d
Centra] Nervoyg
Hearg i
Post anal tajj jq
hoose the most 5
Optiong given belo
M) AR & D onjy
(3) B.c&p only.

29



Consider the following st

175
A" Annelids are true coelomates

5

el Aschelm

Poriferans are pseudocoelomates

s

ies are acoeloma

ninthes are pseudocoelomates

nswer from the options given

ose the corre

below
Ly (2) Conly
(3) Do (4) Bonly
176 List I'with List I1 :
List I List IT
A. Axoneme L. Centriole
B. Cartwheel I Cilia and flagella
ern
C. Crista —1I. Chromosome

—
D. Satellite .~ - Mitochondria

Choose the correct answer from the options given

below :

(1) A1V, B, C-111, D-1
(2) A-IIL B-1y, C-L, D111 -
3 A-ll, B, C-IV, D111/
() A1V, B, C-II, D-]

177 M

(ch List I wigh List11 :

List 1 List I1
A. Prerophylium, i Hag fish
B. M . Saw figp
C. Pristis_ ML Angel fish

D. Erocoeryp L0 Flying fisp

Choose the correct ansyer from the Options

below - o

S Al .y CIL py
@ ANBy oy D-11p
G A gy o D-ly
@) A py, C1L, p.py

E'?ﬁ..::

26

178 Match List I with List II :

List IT

below :

(/AL B-IV, C-11, D1

(2) A-L, B-III, C-II, D-IV
(3) A-II, B-I, C-III, D-IV
(4) A-IL, B-IL, C-I, D-Iv

17

°

The following diagram showing restriction sites
in £.colj cloning vector pBR322. Find the role of
X and <y genes :

Pvy I

(1) The gene X jg Tresponsible for controlling

the C€OPY number of the linked DN A and ‘y?
for protein involved i the replication of
Plasmiq,
2) The gene ‘X° s fo, Protein inyolyeq in

Rn:.o.m:.oz of Plasmjq and ‘p’ fo, resistance
{0 antibjotics

3) “um%o M\W _..m responsible fo- recognition siteg
nd ‘p o esponsipje f ibioti

¢ 0
Tesistance, o

(D gene “x° jg responsip|e for resistance to

N_S:Eom_om and ‘p> g, Protein jnyoyeq in
the replicatiop Of Plasmiq

[ Contd...

Lt I.  Provides additiona]
A Sons space for Za:«o:m‘
regulates posture
and balance. 5
s ARy
S b Mmhﬂﬂ&: and
gastric secretions,
Connects different
O e i regions of the
brain.
D. Cerebellum V.. Neuro secretory
cells

Choose the correct answer from the options given

Following are the stages of pathway for

\ Given below are two statements 3
0

| conduction of an action potential through the
\ I tatement I : In the nephron, the awmoosamzm:z& heart: ~ :
N:oon of HenléJis impermeable to water and A. AV bundle @
permeable to eleétrolytes, s __‘_wqmm
| o C. AV node
Statement IT : The Proximal conyoluted tubule D, iBunls s hes
QA_.m lined by siniple columnar brysp border

- SAnode Q»

Choose the correct sequence of pathway from the
options given below :
(1) \y.m.ﬁ.mw.__uwL

G EADE
]

v
183 Which one is dhe correct
dependent RNA polymerase to
template? (@) 0
8 4>Q>ﬁ000>ﬁ>ﬁ>.—;00>%ﬂmm>m,
m,>CQC>»’>OCCC>C>OOC>>OC
/@v\mu>GOC>QﬁOCCC>C>OOO>>OCw

A3) s _>._,O.ﬁ>OOWM%ﬁﬂ>H>OOﬂ>>O._;w 2

“) m_>CQC>0ﬂ,@CCC>C>OOC>>OCu '

m

epithelium and §aéreases the surface ares for
reabsorption.

(2) B-D-E-C-A
(4) E-C-A-D-B

In the light of the above Statements, choose the
correct answer from the options given beloyy 2

/\4305 mwﬁwﬁmm%_ﬂ I'and Statement I are fy]5e
(2) Statement I

product of DNA
the given

5

S true but Statement I is false
)
C

(3) Statement I'is/ fase byg Statement IT is trye

181 Given below m_,o.d.%o statements : one s labelled

”ma the other is labelled as

)
| as Assertion A 184 Match List | with-List IT :

Reason R : P List I List IT
(9, A -1 ant Cotton bollworm
/\%2&:: A: w_‘w,wm?mmm&:m during initia| period w50 3
; 3 B. CryIAb ADA deficiency
of infant growth js fecommended by doctors for
C. CryIAc Emphysema
P D. Enzyme Corn borer
eason R : Colostium contains several antibodies replacemen
absolutely essen; ial to develop resistance for the therapy
v} a0y
new born baby, - H Choose the noﬂwuw answer from the Options given
3 below : s
In the light of ti¢ Jabove Statements, choose the

(1) A-I11, B-I, %,v:, D-I\ve~
~2) A-llLB.y, C-L, D-—
) AL BV, ¢, D-I11
(ORVNE§:57 CAv, pp

Most appropriate

answer from the options given
below ;

Both A and

,,w are correct but R js NOT the
(8]

\ correct exp anation of A, g (o))
) Ais oo?ap_.nwh:ﬁ Ris not correct. b Mwm%%*_‘ow_mmﬁmm owkwwobaﬁmlzi fumefacien
B) A s not 8%9 but R is correct, (1 Tumor m:a@w:am:ﬁ plasmid
(4) Both A and R are correctand R s the correct el _:Am_w:.m PiTd

3) HaSﬁQm&@m d ;
€xplanation of A. Ndependent plasmid

) H:Eo:l:EE::mv_mmSE 4

R3 Engligh ]




161 Match List I wit
List I
A. Fibrous jo

List IT
I, Adjacent
vertebrae, limited
movement
Humerus and
Pectoral girdle,
rotational
movement
11I.  Skull, don’t
allow any
movement
IV. Knee, help in
locomotion
swer from the options given

below :

(1) A-1, B-1I, C-I1, DalV
(2)  A-II, B-I1I, C-I, DIV
B)" A-IIl, B-1, C-IV{D-I1
(4)  A-IV, B-II, C-IllyD-I

162 Which of the following is not a steroid hormone?
tosterone (2) Progesterone
() Cortisol

163 In both sexes of cotkroach, a pair of jointed 16

filamentous structures called anal cerci are present
on:

(1) gment

(2) 8™ and 9" segment
3) segment

(4) segment

164 Given below are two statements : one is labelled
as Assertion A and(the other is labelled as
Reason R : ¢
Xamﬁ...:.a.. A: FSH acty upon ovarian follicles in
female and Leydig célls in male. .
Reason R : Growing ovarian follicles secrete
estrogen in female whife interstitial cells secrete
androgen in male human being:
In the light of the above Statements, choose the
correct answer from the options given beloy :
(1) Both A and R are true pyt R is NOT the
correct explanatioh of A.
@) Aistrue but R is fa]se
B) A false but R istrue
() Both A and R aféity
explanation of. A

R3 English ]

€ and R is the correct

24

=

165 Match List I with ListII :

List I List IT
A. Expiratory I.  Expiratory reserve
. ity volume + Tidal
ey .. volume +
..t Inspiratory reserve
(5 volume
B. Functional 1.0 Tidal volume +
residual () Expiratory reserve
capacity “ volume

1. Tidal volume +

~ Inspiratory reserve
, volume

V.| Expiratory reserve
volume + Residual

volume

C. Vital capacity.

D. Inspiratory
capacity -

Choose the correct answer from the options given
/,

below : O
(1) A-IIL B-II, C-IV, D-I
(2) A-IL B-I, C-1V, D-Il~
() A-L B-III, C-IL, D-IY,
(4) A-IL B-IV, C-1, D-[IY/

i

location in human body

Name of: muscle/location,
C_\va Skeletal - Tricgps
(b) Smooth - wwo:_,wmr
(c) Oma_.wn.mww:w i
2) (a mxo_nﬂm_.w_.oavw
(b) Involuntary - Intestine -~
(¢) Smooth - Heart, 3¢
3) (a) Involuntary - Nipse tip
(b) Skeletal - wozox
(¢) Cardiac - Hear.
4 @ Smooth - Toes
(b) Skeletal - L egd s
(©) Cardiac - Hegrl’

[ Contd...

Three types of E:mn_mwAHﬁw given as a, b and c.
Identify the correct matching pair along with their

Match List I with List II :
167

List I List IT
A, Lipase Peptide bond
B. Nucleas | II.  Ester bond
c. Protease III. ~ Glycosidic bond
p. Amylase~ SSLIV. Phosphodiester bond

Choose the oomﬂn,ﬁ answer from the options given
below : it

(1) A-IIL B-II, C-I, D-IV

&) A-IL B-IV;C-1, D-11I

(3) A-1V, B-IC-IIL, D-IT

h 172 Match List I with Bist I1 :

() A-V, Bl C-III, D1

168 The flippers om.mrm Penguins and Dolphins are
the example of 'the
(1) Natural selection
(2) Convergent evolution
(3) Divergeritlévolution
) >amv:<m..m_,wﬁmno=
0
169 Following arefthe stages of cell division :
. Gap?2phisk 3
Cytokinesis &~
Synthesisphase )~
Karyokinesis §
Gap 1 v:...%mo ‘

>

U0 w

Choose the correct sequence of stages from the
options givenbelow :
(1) E-B-D-AC

_37 E-C-ADB

(2) B-D-E-A-C
(4) C-E-D-A-B

170 Which one cwmwo following factors will not affect
the Hardy-Weirlberg equilibrium?
(1) Genetic drif
(2) Gene miggation

M&\Ocz&»zm.%«:a pool

(4)  Genetic recombination

171

xwlmsn:u_. |

Given below are two statements :
« Statement I : The presence or absence of hymen
is not a reliable indieator of virginity.

i during the first
Statement IT : H:w,\:\u\\-:m_._ is torn. g th
“coitus only. )

In the light of the above mrﬁo_:ns.am, choose ﬂ.:m
correct answer from the options given below :
(1) Both StatementT and Statement IT mw,m false
/&\mﬁﬁﬁso_: I is true but Statement II _w false
(3) Statement I is.false but Statement II is true
(4) Both Statement,I and Statement 1I are true

List I List IT
A. Typhoid Fungus
B. Leishmaniasis . Nematode
C. Ringworm III. Protozoa
D. Filariasis IV. Bacteria
Choose the correct MJmiaq from the options given

below : :
/9\?2. B-III, C-L D-II
(2) A-IIL B-I, CV, D-II
(3) A-IL B-IV, CLHI, D-I
(4) A-L B-IIL, C-IL, D-IV

173  Given below are mmn;n,m stages of human evolution.

Arrange them in correct sequence. (Past to
Recent) '

A. EQSG\EE:.W“., PRS0

B.  Homo sapiens,
C.  Homo neanderthalensis
D.  Homo erectus

Choose the correct sequence of human evoluti
from the options given below :

(1) B-A-D-C & @ CB-D-A
B AD-CB | | (4) D-A-CB

-]

Which of the wo_ﬁ?msm is not a compon
Fallopian tube? ”aw.
(1) Isthmus 0

(3) Ampulla

174




L i o
Botany ; fE,:.::.‘z Q. No. 136 to TJS\JL

' Match List | With Lijs¢ 11
U

Pri y Q:O:.SQ
SY'S if the Net rimary Pro

144 Ipap €cosystem if

- ements and choose the set |
following stateme

139 Read the

arcane crop with which of the

2 st trophic level js
List I List 11 (NPP) of fir P ; I
L ICmEn 4 A She oo 100x (keat m2) -~ > What would be
N ncreases the Sl hyceae, A. Robert May ! Species Area 4 : ivi f'the third
o 1 the members of Phacoplhy relationshi (Gross Primary Productivity) o
Gk “Asexual reproduction oceurs Usually p,, e hic level of the same ecosystem?
A A Asexual rep es Alexander vor II. hc:m term trophic
B biflagellate zoospores. B. £ i g
F@Y %4:5%&%&9_ i5 by 00gamous Methog Humboldy €cosystem ) x(keal m2) 577
B , €Xperiment using berfgges Lo
3 acid only. (o ) r
e 3 & m,aam food is in the form Oﬁmm..vo:kagom \ out door plots @ 10r (et £
“ M o inarin, ~ L ;
s which is either mannito or laminarip C. Paul Ehrlic), L Glopy species 3y loox (keal m™2) 5,y
i d are nEOonQ: S 3 A % Z
- The major pigments foup, - 3
137 ,D\ a, cand carotenoids and Xanthophy ). M_S.W_Um.:% at abo; ~
. : million x o |
i 4 cellulosic wal], 4) = (kcalm ) yr
Stitemeny | IS, some O, binds to E Vegetative cells have g .om A s Tl 5 4) 10
RuBisco, €0, fixation js e, sed. /\:%&?8,\28 on the outsjde E\.mimrso:m D." David Tilmay IV. Rivet POpper
f ¢ ing of algii hypothesjs
Statemeng jy , InC, plangs, mesophyll cells shoy, coating of algin, ; y Yp J i ; iy
very little p respi on w hile bundje sheath Choose the correctanswer fropm the Options 8iven Choose the correct ansye, from the Options gjyep 145 Match List I wity Is ]
cells do noy sppy, photoreg ion, below: below: List T List I1 s
ements, choose the (I) B, C.Dand E only &b A, B-I, C-1V, Dp AT Ose 1i: Twisted aestivation
oPtions given pejgy, “2 ACD and E only @ A-L B, C-II, D-ry B e \ I Perigynoys flower
“Ment and Sy entl] are fjse GINATBNC ang E only / () A, w.LS C-II, Dy C Ein 11 Drupe
2) Statemeny | IS true by tement JJ jg false 4 ABc and D only

“4) A, B-I11, C-I D-1y

Lis false but Statemeng ITis trye

D. Mango Iv. Margina| Emom:B:o:
Choose the correct ansyyer from the Options gjyep,
hi 4 i i L 3 : ;
(4 Bo St ment | ang ,w.::c:_c_: Il are true 140 S\:Q.N e mo:o:\:_m mm.mg..:mz.ﬁ 1 ATy 143 Eo::@\ the correct Qamn:u:o: about the given below
\C regarding the Process of Rt:om:bm‘_m £ coli?

138y h Lisg | With List

:w/\;m DNA dependeny RNA bo?.zmwmmo

Catalyses toc\amlwm:.o: in of

(1) A, B-I1, C-IIL Dy

A-IV, By, C-I1, D-g
o ot ne 980:0? 3) A-II, B-111, C-Iv, D
List | List 11 — Ll

: @ A B-1v, ¢, D-111
dritd ; e AAL The DNy aobo:.&m..: DNA Polymerage

Catalyses voa\szﬁ:oz In5’ 35 as we||

B, Insulip 1. Enzyme

C Trypsin 11

| l ::E.%:EE

mwfv%&ao:.g.
f&:m DNA dependen; DNA Polymerage

146 Match List | With Lis¢
. gseam%o?s@:wm:oz in5s°

&roung Substance

List 1 List g
£ lvu,a_.amo:.oP (Types of mSEm:mv Amnﬁ:v.&
D, Collagep, % Enables Blucose @) The DNA %E:.Qmi DNA Polymerage A. Zo:omao_vro:m It Citrus
i Ss.@%m uo?am:Nm:oa in ope direction B. U_.mam_vroﬁ . pey
p transpop Into cejjg that jg 3» D5 i
o =
- >._ Ylic aciq cyele, which (1) Water uo:_.:w.:oa :cc\o& m:oizm Stameng W: 4v : 10a-Tose
\ S B0 cy Of Substrage With mucilagin g Covering, 0Se the correc g
Q) Ay By CIV, py Cacid Malje acid ?) Qo_.mﬂomm_:ocm flowers w__os_sm autogamy,
G) Ay By ¢y Dy @ m:%...i.og = Sucejpje acid,— - ®) Compact inflorescen e showing complete
N Ay B-L oy D.ipy M_.& \,WMME m:.m = Q.»QowEE:.n acid . m:womm:c\.. ] .
k,wrhahtg ) % ICaciq Ox&omoo:.o acid ( Wind pollinated plant _::oamoa:om mros_zm
20

flowerg With we| €Xposed Stameps,
[ Contq.., R3 Engligy ]




: tatements.
Given below are two s
Which one of the following owu: be memw:& s hromosomes become &radually
; J 30 is of Mende]s Law of OMinance Statement : Chromo,
< color (BB/Bb) s Qo::_s 1 basis o i 5 = ing e totene
d [ 125 In aplant, Emn‘»‘mhwm (bb). In order to fing oz L Out of one PaIr of factorg one js dominapg Visible under light Mmicroscope ch_mm‘lw/
121 73, type asno:mnzm:.o: in which the S\ﬁwmﬂ..ﬁ.. E over white mmmhﬁnczmn» e plant, with «E:% S other is o b - feo |
e heir Natura] hg /pe 0 5 B a A e .
Species are taken oy from ¢ :EWm:oOu 8 ill you Crosg it9 fo ¥ geis
10¢ and placeg jp SPecial setting Where they can pe o e following genotype sm\wc Y B.  Alleles do not | Statement II: The vmm:::m ofdiplotene Stag; _
hrotected and gy ol are i callg; () bb ) B the characte Q\,/ ized by dissolution of Synaptonemg
W Biodiversiy, conservatjon G) BB/BL “ B generatjop, e M recogniz )
2) {::..Q:_,ogm:é method C. Factors oceur mw_uﬁa In normg 1p complex .
G) Sustaingpy, developmen 126 A pink flowereq Snapdragon Em_zmwmw:omsé "~ plans, P In the light of gp aboye Statements, cpyo0e
) : ] Snapdragon pl, * Wha ;i : i articulay Z below
D sy 8325:0:_ i P sm:_ruaq zoswan E‘Wm{aa@w zﬁﬁd%ewg D. The Smnﬁ.ﬁw Mﬁ._%mwwoﬂﬁ olling 5 2 correct ansyer from the Options giyep,
L phenotype : character i 1o : Il are fa]se
R well as pink nos@o@ Play ; d Statement a
122 Match 15, MithListy MR pp o x&%dﬂmwnﬁw& plants h & The expregsioy of only one of the parentg (D) Both wn:os@& M ) is fal
e gt o O:?% :MA Um: as white mos\azwa Plang o characterg Is found jp, , monohypyjq Cross 2y Statemen; | IS true byt Statemen; IT'is fajse
3) Red, Pip as pied
Ao Or more I Back Cross ( lants hoose the ¢ s true
Only req no:&amu an Cho, Se but mBHmEmz
alternatjy, @) y €) Statemen¢ Lis @ﬁ.
¢ D A T IT are true
o of a g 127 Inhibition Of Succinic ey, @) Statemen [ g Statemen;
B. Crosg :\,3 1I. EE.QR 2 'y
Progeny With
\:E::.\uﬁo:z 134 Tp, Capacity o &enerate 5 whole Plant from, any
I Aﬂcwcaﬁn.ﬁ:wﬁ.‘: g - cell of the plant is om:.ma,.
* Crogs o, .\ - Allele % i figure . ¢
ftheseeq from the ven fig ; :
ol B J@.zmw\mﬁwmmw mwu-mbﬁgw the seeq (D zaﬁovnogmm:aa
5 1ch is deg; 42 root : {
any of e Parens tatementg e —— & s iation
D. Numpe, of V. Ty cross KMEREE.:.. Bt toxins are inseqy &roup Specifio Serminaes, 2) Differengip,
and codeq bya &ene cyy, IAc,
n\:.:.:cz.::c |
SCLS i plan d@uaaﬁ: I : g, toxip eXists 5 ..:mo:.,a
~CS in plap, Protoyp, in p \\E\S%N,mi
Choose the Correcy answer from the Options given i
beloy,.

7s. Ios\m‘\nw after
actiye Protoyip, gets
due ¢, acidje PH of

Ingestjop by the insect the jp,
d into actiye form

[ 02 ] [
3) Somatjc :kv:.&.wm:.o: :

D To

(1 A, B-J, Cuyy, D-ry

¥

ti] Uoﬂo:nv\

= |
1 ¥ ]

124 .wb:::m mvma altacy to »..:300:33 of
Q:osomos& qc:.:%

ﬂ&\iﬂmﬁbﬁm

3) w,icb}mma

) }:%&&n

“) wwogﬁm
R3 Englisy, ]




fuct C

nce

NaCN
~CH, ~CH, -g5—2CN ;4

OH
hydrolysis

91 The pair of lanthanaftbions vy
is

(1) Ce’*and E
2) Gd?
(3) Pm

92
(1) O!A_cc:
OH oy
@ (O—cu-¢y n®)
00 @

@ O-c-é 8
@ (—cHo (¢

93 4 Compound x contaij
2o (

F.:E:::k hnﬂnmzs.hm

S )

formuly of Xis: 1S)

of C,

{
() ABc, 0@ ap,c,
() Aagc, O e,
Vo)
Nu!m.nw:‘u& ]

formed

.,.wwa\n ofA, 209
hen, the €mpirica)

(Given atomje Emmmmw OfA=64. g 40;C=3;

97 The rate of a reaction quadruples when
temperature changes from 27°C to 57°C.

| conpimbend Caleulate the energy of activation,

A. AP
; Ba? ! Given R =8.314 j k-1 mol-1, log 4 = 0,602;
C. Ba?
E Mt i Lo (1) 380.4 ki/mo]
\ Choose {ggtanswer from the options given
10 ¢ 4

() 3.80 ki/mol

below: o
(1) B,C, A, IXE
(@ ECD,B,A
@) EAB.CD
() B,A,D, (S

(3) 3804 ki/mol
(4)  38.04 ki/mol

98 During the Preparation of Mohr’s sajt solution
(Ferrous ammonium sulphate), which of the
mo:os;:m acid is added to Pprevent hydrolysis of

=
S The work dogeyd 8 reversible mmo:_m::.i
expansion of anre mole of hydrogen &as at 25°¢
pressure of20 atmosphere to 10 atmosphere

: )
(Given R =2.0 ca] -1 mol-1
%\ 413.14 calories
2) 413.14 calories
3) 100 calorjes
(4) 0 calorie Yf -

(1) concentrated sulphuric acid
e ) dilute nitric aciqd

397 X2 X 200 x Ay ;
o (3) dilute sulphuric acjq

) dilute :%aqgio:.o acid

Major prodyct and B formed i the wo:o::.:m
_Sm:.o: Sequeds, ave 1ED T plot of Osmotic pressyre (I1) vs concentratioy,

o0 (mol L) forn Solution gives a Straight Jine With
slope 25,73 Lbar mol-1, Tpe temperatyre atwhich
the Osmotic Pressure Measuremen¢ is done is:
(Use R =, g3 L bar moj-1 K1)

(€)) 310°C

/Q 3 12,05 e

100

Hy¢

ale. KOy
B> i)

@) 2573 el
@) 3700

Ew::.@ the Correct answer,
A\J\wmw has non-zerq dipole Moment,

a (@) Dipole Mmomen¢ o»,Zm.w

IS greater than thaq

u)

A transcription unit in DNA is defined primarily
by the three regions in DNA and these are with
respect to upstream and down stream end;
(1) Structural gene, 'D,m:mUOmc:w Operator gene
2) Inducer, xouﬂmmmon Structural gene
v&3) Promotor, Structural gene, Terminator

4) Repressor, Operator gene, Structyra|] gene

102 Identify the set of correct Statements:

A.  The flowers of Vallisneriq are colourfy] ang

produce nectar. ?
_B< The flowers of Wwaterlily are pot pollinated

by water,
€ m most of e<m87_uc:_.=m~ma Species, the
Eif pollen graing are protected from Wetting,
D Pollen 8rains of some :%&wourv\am are long

and ribbon [jke,

E- S some _&\E.ov_dhmm, the pollen grains are
Carried Passively inside Water.

Choose the correct ansyer from the Options gjyen
below:

(@) e Cand D onjy ~
@) A, C, D and E only
@ B, O,Um:amo:_v\\
@CIDiang E only

hoo_.:.:.:, a sma]]| moleculay Weight Organijc
ow:_nozsa found i :S.:w tissues, js an example
() 3

ACI\E,.OmUro__.UEm ?) DQom:.Qmm

3) Om&oaaﬁam “4) Amino acids

These are

: fegarded a5 Major caygeg ofbj
oss:

o&ﬁﬁ..q

AN Over €xploitatiop, b
B. Oo,wx::o:.o:.\
- M Utation



+ Section-B (Q. No. 36 to EL

s bar of Young’s modulys,

A metallic ;.:a%%._n_.n_:o:_._am:__n_,:s_
.5 x 10/ ZMW °G=), length I m and areq of

93:,&.@5_5 3 s heated from 0°C to 100oC
”Nﬂw”m“,ua:_.oz 6r bending. The Compressiye

Physics

36

lput ¥ as per the

force developed in _.J_u..
)
Y@ sx103N

(1) 50x10°N 100 x 103 N

@) 2x10°N

Choose the correct(Circuit which can achieve the
(#)]

The expression for the output y j -

(1) ﬁ@\:

(4)

bridge balance.

AB + 4

(2,

AB + 1

34 Inaun ic field of 0,049
needle performs 20 complee
5 seconds ag show he momeny ofinertia of the
9.8 x 10-6 kg mi2 If the magnitude of
1t of the .“ncn‘c 15x X 10~5 Ap2.
then the value of - s : i
38 Asmall telescope has 2y objective of focal length
¢ 140 ce of focal length 5.0 cm,
, The magnifying Power of telescope for Viewing
(1) 12872 a distant object js
B) 128052 e 17
3 32 Q@ 34
©
35 A bob js whirled i,
ofa string with an j An iron gg:ﬁ.ﬁ: L has Magnetic moment M
tension in ghe stri sl

ent at the .:M.m&a of its lenggy such that the
WO arms pqpe an m,wma 600 ity each other, The

J .
W::m W magnet .

while >cnw_.:m the say, '
String becomes 3 Magnetic Moment g,

. &

W 4z (D8 mo @ 2m
()

3) ar M ©

& B @ M

R3 Engligy ]
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40 AlOpF capacitor js connected toa 210 V.50 Hz
source as shown jp figure. The peak current in
the circuit js nearly (n=3, 14);
/ -
1k R= & il
C=10pr (=
(0
210 7,50 g7 3 HMBHV»
(o
D 0.93 4 @ 1204 7 m_%\ﬂca
3) 0354 &) @ga A
P A=
IR0 heaters A and B have Power rating of | W

and 2 kw, respectively. Those two are first
connected in serigg and then in parallel to a fixeq
Powersource, The ratio of power outputs for thege
two cases js:

AP
I 2:9 @) sz \ﬁ@\
®) 2:3 @ 1:] %Nﬂﬁ@

period owomo_:m:oa is 5 times jtg original time

9
L
\V\H

T naon)D

e

=

period. Thep the valye of x js:

AN @ 243
® 4 @ 5

The Property Which jg not of ap n_mo:os,mm.:o:n

Wave :.m<m:_.=m in free SPace is thyt 5

(D) the energy density i, electric field js €qual
to energy, aosm:% in Magnetijc field,

()}

/h&\z:% Originate

; from Charges my;
Unifory, Speed.,

ng with

44

A sheet is placed on a horizonta] surface in front
ofa strong magnetic pole. A force js needed to :
A.  hold the sheet there if it js magnetic,

B.  hold the sheet there if it js non-magnetic,

C.  move the sheet away from the pole with
uniform velocity if it js conducting,

D.  move the sheet away from the pole with
uniform velocity ifit is both, :o:.no:n_:o:.:m
and non-polar.

). 4 x31€Choose the correct statement(s) from the optiong

2R3 given below: D

; (1) Aandc only

@) VAN @ and D only

&)y @ only

(4) BandD only

g0

45 T velocity (V) - time () plot of the

body is shown below :

motion of

The acceleratjon (@)~ time () &raph that bes¢ Suits
this motiop is :

(1)
(5>

£(s) =

46

Aparalle] plate Capacitor js o,

.: toa cm:aQ through 5 resisto,
in the o_...o:F then j




g
i

el —
e o
IR e 25 Ahorizonta] force 10 vjs applied to 4 block 4 a5 298 W\¥ v e of length <> and resistance 1000 js
level | 21 The maximum clongation of a ,ﬁrrn 5 <o::mw Siher o mmE.m. Tike Mo o:icorm el s it ftio 10 — parts. The first 5 parts are
2 on a le % e oe S
17 ng on r th if the elastic limit os,wnxn_ﬁw_w i 0 2kgand 3 kg, respectively. The blocks slide over
o respe ely, are U
. which one of ESDECHYVELY

t(”and Q are 4 ny

connected jp series while the next s parts are
a frictionfess Surface. The force exerteq by block connected in para|je[. The two Combinations are
2x 10N m=2, 4 on block Bis : e OlL! h.w& again oo:_ﬂwﬁo.a _.J series. The resistance of this
st and lowes; S on the wheel, (1) 0.4 mm (2) 40 mm fe . m T fina] ombination js- 9 x50
ely)? ) B ,Qv 4 mm A= lo loete 2 ol 520 ) 550
x a3 n = X
Ve jg et o e 3) 600 @) 260
ot i | 2 ¢
— 22 Themass ofa planet js 7o thatof the carth ang | 1) 4y @ 6n If x = §sin ﬁ o+ wmvs represents the motioy, ofa
its diameter is half ».:N: of the Q:,:.r .,:5 3) 1o0n ) zero particle akmo:&.:W m::.ﬁ_o _5-::”.5_.0 .:c:o? the
o acceleration due to gravity on that Planet is ; \ amplitude ang time perjod of motion, reSpectively,
) Point 2 moyes faster than point Q. @) OB 2) 49ms2 26 The n_:m:::om. Which haye the same a_.am:m_dzm are : 2 _ i
(2) Both the pe 2 and O moye with equal () 392ms2 @) 19.6ms=2 as those of solid angle are - W s m,2s 2) mm cm, . s v\m e
speed. N (1) stress ang angle . £ B Sm, 15 @) Sem e s
3) Point 2 has yery speed. Ko X : % 31 Ifeis the <o_oo_.6\02_.m_: in free Space, the Correct
am_v :._.:w_ 2 moves ,_:mz. than point o), 23 Inavemier calipers, (v + 1) a_sma_:. of vernjey @) strain and are
by scale coincide with A divisions of main scale. [f 3) angular speed and stress
18 Ay “rmodynamic system is takep through the

ton among the wo:os\_.zm
I MSD represents 0.1 mm, the vernier constant
eycle abeda, The work done by the

&as along the

/A\\C\ Strain apq angle

! : g AT The energy of 5 Photon js z _ hv.
(in cm) fs - \\M w@ B.  The velocity of 5 photon g &
hbe s - 27 The mo finert;; i i
i ment of inerti, ofa thin roq about ap axis hy
0 —_— 100V - d s ¥ =
5 f \v Mere N b p (1) _oo?: c @ |N\\X ‘o Passing zd.no:mr 1ts mid Point and vmﬂa:&o:_mn 1*0 i fomentum ks v:n:o:, R rnl
: ' i ). % | o pp? ) . = to ﬁn rod js 2400 g cm2, The lenggp, of the 40 g D. Ing, t:ono:,m_mn:o: collision, both tota)
kP frane) = © 0@y gy rod is nearfy ; energy and oy momentum 50 conseryed.
osey-.. | L &\L ) e 10N @ 75 cm @) 207 o £ Photon POssesseg Positiye Charge.
y \7\3 | 3 720 o /wx&\m.m n Mdoog the Correct answer from, the Options given
- - ) | elow
100cm T e 24 Given below are gy statements - | : (OF A5 D only
T Dok tatement I ; Ao are electrically neutra] 5 | 28 ﬂo:m.aon the mo:o«i.:m Statements A and B apq (2 A c and D only
(D= 30. (&)800% they contajp cqual numper op Ositive ang | identify ghe Correct answer : = CIRAS B, D ang
Gy 4) 7, q p mi E only
3 - () zero negative charges, ﬂ = A\ﬁ.r W Aapg Bonly
.S e oo 32 Matcp List 1 With [ j t 11
Y e Vi $ St I,
19 Ina, idea] transformer, ¢ turns ratjo jg Jm = M 4k S S i List 1t
No 5 Pectra] I jpeg of gnﬁ_m..ngu (nm))
The ratjo Pees ¥, is equal 1o (the Symbols carry m.mvdn.o.nm: fon
their usual Meaning) . :n:w.:e:m nﬂosv
() 2y @) 19
() aei4 @ 1.2

20 Athip flat cirey,
gently over (he surface ofyy,
of water js 0.07 Nm-1, then the excess force
required to (afe j¢ away from the Surface js -

(1) 198N @ 1.98my
3) 99N @ 198 my

410.2 £
4341

Als incorpeg,

tbut B j Correct,
() Both o and

Bare Correct,

zwlmah:.mr ]
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2 g This Booklet contains 32 pages, including Rough Page.
,’3\“1'7 — Do not open this Test Booklet until you are asked to do so.

Impnrhml Instruction s
he Answer Sheet is inside this Test Booklet, When you are directed to open the Test Booklet, take out the
Answer Sheet and fij in the particulars on ORIGINAL Copy carefully with blue/black ball point pen only.
2. The test is of 3 hours 20 minutes duration anq the Test Booklet contains 200 multiple-choice questions
(four options With asingle correctanswer) from Phy sics, Chemistry and Biology (Botany and Zoology).
50 questions in cach subject are djy ided into two Sections (A and'B) as per defails given below: 5
(a) sccriuq A shall consist “of 35 (Thirty-five) Questions in each subject (Question Nos — 1 to 35,
51 to 85,101 to 135 and 151 to 185). All questions are compulsory.
(b) Section B shal| consist of 15 (Fifteen) questions in each subject (Question Nos — 36 to L Ll
136 to 150 and 186 (o 200). In Section B, 5 candidate needs to attempt any 10 (Ten) questions out of
15 (Fifteen) in €ach subject, i
Candida}es are advised to reaq all 15 questions in each subject of Section B before they start attempting
the question Paper. In the eyept of a candidate attempting more than ten questions, the first ten questions
answered by the candidate shaj) be evaluated,

3. Each question carries 4 marks For each correct response, the candidate wil] get 4 marks. For each incorrect
response, one mark wil] he deducted from the total scores. The maximum marks are 720.

4. Use Blue/Black Ball Point pey only for writing particulars on this page/marking responses on
Answer Sheet. % =

5. Rough work is to be done in the space provided for this purpose in the Test Booklet only.

6. On completion of the test, the candidate must hand over the Answer Sheet (ORIGINAL and

OFFICE Copy) to the Invigilator before leaving the Room/Hall. The candidates are allowed to take away
this Test Booklet with them,

7. The CODE for this Booklet js R3 Make sure that the CODE printed on the Original Copy of the
Answer Sheet is the same as that on this Test Booklet. In case ot’discrepancy, the candidate should
immedialely report the matter to the Invigilator for replacement of both the” Test Booklet and the
Answer Sheet,

. 8. The candidates should ensure that the Answer Sheet s not folded. Do not make any stray marks on the
Answer Sheet. Do not write your Roll No, anywhere else except in the specified space in the Test Booklet/
Answer Sheet.
9. Use of white fluid for correction js NOT permissible on the Answer Sheet.
10. Each candidate must show on-demang his/her Admit Card to the Invigilator,

with as an Unfair Means case.

13. Use of Electronic/Manual Calculator is prohibited.

14. The candidates are governed by al| Rules and Regulations of the examination with regard to their conduct in
the Examination Room/Hall. Al cases of unfair means will be dealt with as per the Rules and Regulations of
this examination,

15. No part of the Test Booklet and Answer Sheet shall be detached under any circumstances,

16. The candidates will write the Correct Test Booklet Code as given in the Test Booklet/Answer Sheet in the
Attendance Sheet,

173 Compensatory time of one hour five minutes will be provided for the eXamination of three hours and
20 minutes duration, whether such candidate (having a physical limitation to write) uses the facility of
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